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PHILOSOPHY — HONOURS
Paper : CC-10
(Epistemology and Metaphysics)

Full Marks : 65

Candidates are required 1o give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.
Choose the correct option (any ten) : 110

(a)

(b)

(c)

(d)

(e)

(f)

(2)

“There is nothing in the intellect which was not previously in the sense”.— The following philosopher
has stated this :

(i) Locke (i) Descartes
(iii) Leibniz (iv) Berkeley.
Which one of the following theories is Metaphysical?

(1) Phenomenalism (i) Naive Realism
(i) Plato’s theory of Universal (iv) Imagism.

‘He is a true friend’.— Here the term ‘true’ has been used in the following sense :

(i) perfect (i) real/actual

(iii) genuine (iv)  faithful.

Among the following that which is not a theory of truth is :
(i) correspondence theory (i) coherence theory

(iii) referential theory (iv)  pragmatic theory.

‘He is fat’.— In this sentence which of the following state has been expressed?
(i) Occurrent (i)  Dispositional

(iii) both occurrent and dispositional (iv) None of these.

‘I know Victoria Memorial®.— Here the word ‘know’ is used in the following sense :

(i) propositional knowledge (i)  Acquaintance

(ii1) knowing how/ability (iv)  None of these.

*To go back to past’.— What kind of impossibility is expressed here?
(1) Logical (i)  Empirical

(iii) Technical (iv)  None of these.
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(h) Which of the following is not a definition of analytic proposition?
(i) The proposition in which the predicate expresses the latent meaning of the subject.
(i)) The proposition in which the predicate gives new information regarding the subject.
(iii)) The proposition whose negation involves self-contradiction

(1v) The proposition whose truth value can be determined by analysis the meaning of the terms
constituting the proposition.

(1) *The existence of physical objects is dependent on our knowing them’.— This is the basic tenet of
the following theory :
(1) Naive realism (i) Representative realism
(ii1) Idealism (iv)

G0

None of these.

Sense-data are the objects of our direct sense-experience’.— This view is expressed by which of
the following theory?

(i) Naive realism (i) Phenomenalism
(ii1) Idealism (iv) None of these.
(k) ‘*Universals exist in a non-temporal, non-spatial realm’.— Who says this?
(i) Plato (i)  Aristotle
(ii1) Both Plato and Aristotle (iv) Berkeley.

(1) If A is the sufficient condition of B then which one of the following is true?
(1) If A occurs then B will occur

(ii) If A does not occur then B will not occur
(iii) If B occurs then A must have occurred

(iv) None of the above is true.

2. Answer any five : 3x5
(a) What are the necessary and sufficient conditions of propositional knowledge? Discuss in brief.
(b) How does Berkeley argue against the distinction between primary and secondary qualities?
(c) ‘Truth is that which works’. — Discuss this theory in brief.
(d) Distinguish between concept and image.
(e) What are the basic tenets of Naive Realism? Answer briefly.
(f) What are the points of difference between Platonic and Aristotelian theory of universals?
(g) What is plurality of cause? Is it possible? Discuss.

(h) Discuss, in brief, the basic tenets of Phenomenalism.
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Answer any fwo

(a) PFxplain the basic wene Nrese b | i ism? Why i
i | cls o representative realisnn, How does 1t differ from naive realism? Why is
this theory called “iron-curtam theory ' 44447

What exac - ; : : . zs
(h) What exactly 1s the problem of induction? Does lHospers suggest any solution to it? Justity

VOUr answe

vou swer 1045

(¢) Explam and evaluate correspondence theory of truth 10+5
15

(d) What are the conditions o having an idea of an objeet? Discuss after Hospers. 3



